APPAA X - 110 430 = 09 U] 2 % 7P 2 22 0, 7P 2
T2 peh e, a2 4 20 2

@ 8 @9 @ @ou G

B ~
x-11x24+30=0

(x2=5)(x2-6) =0

. ox = +V5, x=+V6

AL La=-V6, 7P EZb=+V6

LA+t =6+6=12




xo e oA f(x) & 2%+ 12 U Upo] o2, x-320 =%
U= T o] Yy z]= 50|tk o] A f(x)E (P +1)(x-3) 2=
U= w9 UH A& FohH?

@%(xQ—I-l) @ %(xQ—i-l) ® %(x2+1)
@ 2x2—3x+1 @ §x2—x+%

~&B

fx) =(*+1)01(x)
f(x) = (x=3)Q2(x) +5

(x2+1)(x—3)Q3(x) + ax* + bx + ¢
(x> +1)(x = 3)03(x) +a(x* + 1)
() 22+ 12 Lhro] HolxBE)
(x* + D{(x = 3)Qs(x) + a}
3l f(3) =10a =5

o1 eAE L (x2 + 1)




